2l d- Saell dsa Aalad,

C

ofl.3 2Au. A 514y,

[dad s, adals, Axd.

gla 5124+ ula R0y

HHA ;4 seus (MU 10 00l 11:00)

Adlul : 11/02R0%Y

54,90 : 100

TR

1. 1% o s 204 30 MRz, oflen 20 BFRaul 213 Ao
Am 60 BRzul m3 S, i wdiy i wedl g s 2l
di 214l J2en unuul e ¥ ?

(A 12@R[2 @) 10HmRA2
(©) 16M[MRe D) 14 @Rz

60 Ball / sensd 22 wadl 21s 2 Rnad 6 As-zul
wuz 53 89, di 2l deus Sedl 7

r2

(A) 60lea B) 36e=
(C) 600 Hlzz (D) 100 Y22
3. dlu adui 53 334 iy a-l dieud-u =
A) 1 ®) >
(© 2 D) =
4. AsRe-d As0 3850 WAL B, deh i Fadl i ?
(A) 70 2.+ (B) 744l
(C) 700 4. (D) 7000 ¥4l
5. sigl wad B 7 AL A G 9 Aall. 6, du2igd
85t Al
(A) 462 a1 AHL (B) 628 a- .M,
(C) 762 uad.M. M) 790" AL
6. 10 3. [Bssied uristn s yasll e ?
(A) 2nrh ®) mr
(C) nr?h D) mrh

7. uueuy [JABCDHL AC=3.2, BD = 6 i di agesierl
SECTRENTAR

(A) 34 (B)

(€} 9.2 (D)

i3.6
18.4
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8. Ba s su 5 Mfewl wi 83 8. dl d- sl 62
£1M [ Age3 BN,

1

(A) — 513/ Asws (B) & /A

300

(C) 300 314 / As=3 (D)

0. & v 13:11 L WHIAH 8. 6L dvyl 923 aslad 24
£,

; TR Rt

» HiA vy =
(A) 312 (B) 169
(C) 144 (D) 156
10. 4,9, 18, 21, 30, 16, 30, 16 -l @38 Y,
(A) 17 (B) 18
(C) 20 (D) 24

11. ol PRABA- 251 27595 wid THILAK ) 2isu 368451
gla dl, BHARATI } {51l 58 timigl ?

(A) 9567568 (B) 9675538
(C) 9657538 (D) 9567538
12.41A=2,M=26,Z =752 ¢t dl BET =

(A) 44 (B) 54
(C) 64 (D) 74
13. 9l yel &20: 2, 12, 36,80,
(A) 100 (B) 144
(C) 125 (D) 150

14. 20 Avwayg Tl Avaruss e [Asedisiel e,
6, 36, 63

(A) 7,49,98

(C) 9,84,45

(B) 864,46
@) 11,111,834



15. yiou [Asew wais 53 wed ue ARl (A) 1 (B) 26

3F, 6G, 111, 18L, () 39 D) 45
(A) 210 (B} 25N 23, wseel (7)) aun s 4% gt saddl.
© 27 (D) 25P ‘

16. %1 w5 WAl Wadl Bad s s3dl 4w Bau adal
arz Sl ol d wRA 199 Bay sul giu ?

(A) Lar (B) mawr (A) 21 (B) 18

(C) waaR (D) usUR ) 27 (D) 38
17.%1 ABCDHL A = 26, MY = 16, YOUR = 29 SR dl 24 {2 safdd »usRui sa 2eeu Az 8 7
THAT =

(A) 67 (B) 73

© 52 (D) 59
18. wutian 2idloA youai- uysHiedl el usdl A A,

(A) BDYW (B) CEXZ

(C) DEYW (D) EGXV A) 23 B) 25
19, view M s2di ag Gur- 8. Awa den s2di ag Guasi © 19 D) 18

. um weul sl 2 Gu-l 8. ol G uwoL uA
sllen 5240 208l B 27 e wadt $2d1 ag Gua-dl € dl
Gl gl onuie v waradl a2d sie suag ¢

25, %t dleud ude, uded W, Doud epRl, ey daiell A
apenellA 5100l s@arul »ud dl ga-il 320 3l ¢dl ?

_ (A) deus (B) ™l
(A) wa (B) sflas © da ©) Wil
(3 Sl Bl 3% . 26. "a1Ss" sl wma Aayudini S8 waldid sul ?
20. myff uln e 14 Hlew wdld d-Al opugll eusr anis as ,
14 Hl22 Wd O w uedl $0fl azs 10 Hlex wd &, sl d () SRR ®) "o
il siell 42 14 Wz wd V. di A i wilkis 220l (= = @) sad
ol ileon Jze Hlza »iad B ? 27. s stz el Ae’ L0 ?
(A) 12 B) 2542 (A) =disd (B) e
(C) 2422 @) 354 (€ wiad (D) Hsdsm
20, 35 oisdHl uBuu vuud gad sg 3, A W w28, 'qadd’ Sk Guun 8 ?
el Wsll s wisd) B, aad 2 wisd wd g el © ? (A) shuend yqdl (B) sdleis ol el
(A) a8 (B) [ (C) oladiamBud (D) uddiadl
(© o (D) wld 29. 14 vuilen [sediui 2 woe aauqnel] 4l A ogud.
22, A3, 20l 2uslni Alssu e aiadl dvaal suda A) Rl ®) [
8. waud Bl oroua [Aseuiniell 6 v 2nd ? © il ) R
4 30. % 914 : Fla
b 4 (A) Ra+an (B) FPa+qa
db (C) [+ (D) Ry + 2
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31. AU A T ERA 40. SN A 581 81— Asadl Won (ARG Yol & asa

(A)  svwRy wA (B) GUUE dcuIN AHIA w2 bl ?
(C)  weudlend wus (D)  ueumugaid (A) S au, sl 61?7 (B) 47 e sel i)
32. D3k vinden awsnuiof]l nilEd Rawadl wsiz ogudl. (©) &, wudssion? (D) &7 wuud sel o7
540 WIETIR HLEL %L YR 8. 41. Give synonym of ‘Bland’
(A) UHRAAS (B) 2dsigaias (A) Banal (B) Bitter
(C) wwauAs D)  sgaas (C) Caustic (D) Zingy
33. 03 wda dusul B Aioegal AelGiime Batanymuef Same’
a2l Hirtate wel drd o AUl (@ Clone (B) Carbon
(C) Twin (D) Polar

(A) (C) A (D) tid (B) dd
(C) ua (D) «%
34, 3uiftd uenl sEa-l wn Wl wrsudl.

43. Give meaning of Idiomatic Phrase :

Sachin is an indifferent student, He 1s a ofien all at

sca.

S Ui it el (A) inastate of shock (B) very
(A) 8ad jEd (B) elam g€ knowledgeble
(€) ®jd 48d (D) adwi sed (C) completely (D) in danger
35. 9l usiz [Aseyuidl s, confused
dladl s[5 w308 dizn 393 At 44, Find out the correct word for : ‘That cannot be
(A) sRella (B) aialdast understood.”
(©) RmfEell (D) wgafRARA (A) Incomprehensible (B) incomprancible
36. w2l usiz Rseynisl i (C) Uncomprihensible (D) Incomprencible
widl susn wdl A, 45. Fill in the blank :
(A) *an (B) vicupun T'must have a reply without any delay.
(€) uus D) alils (A) farther (B) further
(C) farthar (D) furthar

37. 04 »uva dusud Aoy Uls disd el

(A) Al W cung 5213 B, 46. Find out the correct spelling.

(B) 2%t (hNaL 52l 5 (A) Perseverence (B) Perseverance
(©) e st 52w (C) Perseverance (D) Parseverence
(D) el Wil e s, 47. Give the Plural form of ; “Safe’.
38. 015 wuden el sl ofladl dioa Auierst Al (4) Sae (B) Saves
(C) Safies (D) Safs

#A agllasz ad, oun ais 2Ly uee 53, ag ean endl as.
(A) Bd,dd (B) 2,
(C) 3,4 D) i, dl
39. 56 it Widl © A eudl.
(A)  sadl —ll(Ea (B) yon — uléya
(C) auuy - -yuslEo (D) 2iarl — ylFas

48. Translate the following sentence in English.
A A6 wa su st anz 530 4l ast,
(A) You can do no work without sincerity
(B) you can not work sincerity
(C) You could not do any work with sincerity

(D) No work can you work without sincerely
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49

50

51

52

h
(8]

55

56

57

58

. Change the gender of : ‘Duck’
(A) Dutch (B) Duke
{C) Drake (D) Dukling
. Fill in the gap
Flower : Bud :: Plant:
(A) Taste (B) Seed
(C) Tlower (D) Twig
3x2+13x+12 =

(A) Br+DE+3) B (x+4D)(x+9)
© (x+12)(x+3) D) Gx+4)x+9)
Cyuled Adrt A5 wimen Wi GQodl wdi, Aimarl wsoel
Yetrtfl 1002 el suzg gl Ade 58 Bl agq 53
Gledl et ?
(A) Gur (B) sl
(©) ud (D) ufay

53, M5 uidlds ewrumi ‘MADRAS AL ‘OBFSCT’ <iu di

‘BOMBAY” il a5 sl ¢9l ?
(A) DPOCCZ (B) DQOCCZ
(C) 2wuasswa-dls. (D) DQNCBL

% 1 ARa Ay @R € d 1 gasa By sl ar

ed ?
(A) ®8aR (B) wuud dsum (2,
(C) wWHAR (D) wWamar

. s[Acnl s auSaul ol cugrell 1530 5% 89, al 34 32a

SR

(A) 30 (B) 32
(©) 29 D) 31
- g aliain aair- 8 1 00 drui-l uHY tdld 9, di Uil
2 : 00 awu YAl de sas sizid zd wReme 54 edl ?
(A) 180°{33l (B) 120°Rs3ll
(C) 140° R0 (D) 160° (33

. %l BOOK o6l st 513 43 2y dl HATE 21661 s
i3 saiwn ?
(A) 32 B) 37
©) 38 D) 34
. SATISFCTION aiteuisd) 5l 2168 siridl 2l ?

Page 4

(A) ACTION (B) STATION
(C) EAST (D) NATION
59. 2l yul 5210 37, 43, 40, 46, 43, ?
(A) 47 (B) 59
(C) 49 (D) 69

60. 4o sl Asrirll AMA Ui sALs wm 69, dsnell sl
sz adl Guldd [Run eu sais eie Yol udid 8 el
oSl s umy 9 8l ?

(A} AR s (B) HMI3 Aw
(C) iz (D) iR &
61, A4 :ogl s uad:
(A) sz (B) ond
(C) 2usa (D) afuxt
62. DA uHSHL s A0EAL Y vi-udll el u B ?
(A) 54 (B) 24
(C) 63 D) 36
63. 500 axiui Z2a efly 9y wnasi ?
(A) 121 (B) 120
(C) 125 (D) 122

64. wal or=d 3 WA 1980+ el aul gdl 207 Al o
291l 4 [Bax uden gul sdl. o 2 ad Graue wRaiza
Rax 214 el di Wil orew s Rad aul eiu ?

(A) AHAR (B) A3arR
(C) AR (D) wHamaR
65. DA azrisy L4 2 Rsedl T4 il az-usy el

() =weus (2) ARAR
(3) wiedll @) menad
(5) sl vilaus

(A) 5,3,2,1,4 B) 3,5 1,2, 4
€ 53,1,2,4 (D) 5,3,1,4,2

66. ¥lg e waenn Bigdl 62 das 2 [ wd 8. curens
d el euorell 3 Bl d 8. wedl d sioll tugy 41 2 (5:d)
A 8, ¢d ded YL 56 Bouni el ?

(A) Gz B) sl
(€) ud D) ubam



67. Rt S Rrtew wardl yoll wdl o aw ? 76. DAq AUl su1 Aeerl Y wull gEL Ui B ?
(A) ol (B) &8+ (A) #dd B) Gur
(@) 4§ (D) eugly (©) am D) Ad
68. ABCDML (A—Z=1-26) uwidl %idi j—B= 77. Arrange the following words in ‘Alphabetical order’

HP-L=D¥AX—-Q=GeMdM-D=

(A) E (B) V (1) Accompany (2) Accomodate

(C)y T (D) O (3) Accent (4) Acclimatire
69. 4 ) 5 qow a2 sy wud al¥uo-n sz wisellon-l wd (4) 3@®.0%@ B @),0C)H 1)

&8l ? © (3., 2,1 D (1),(2),03)®

78. Find the old one out ....

(A) uiF4: 45
(C©) 4 =l 50 [&A2

(B) A% 4: 40 aed
(D) iR 4: 54 A

(A) Frequency

(B) Duration

. . . ) {(C) Intensity (D) Piich
70. DREAMLAND bl a42i-il 2udl szdll 18l © gwiel 79. Choose the appropriate suffix for the word “Pity.”
N f ~ a 9
357l aRal wi3efl Huuarl Fza AeR 8 ¢ (A) cous  (B) e
(A) S8 Al B) s (C) Pul (D) out
© 4 (D) =A@ sdldd 80. match words the correct pairs.
71, &8 Ame vl yeu 19 6 7 A ‘B’
{A) XIXI (B) IXX 1. Lion (A) Hive
() XIX (D) XXI 2. Cow (B) web
72. il aceid vielyel Afui olsam e [Asewini 3. Bee (C) Den
Hioy (Asey snal. 4.  Spider (D) Pen
(1) gé[ (2) G (A) 1-0, .2—(’:1., 3-b, 4-d
(3) wmw 4 €4 B) 1-d,2-3,3b,4-c
) 1l-¢, 2-d, 3-a,4-b
(5) MY, ( ) <, > d,
(D) 1-a, 2-d, 3-b, 4-c
(A) 2,5,4,3,1 B) 4,2,53,1 _ ,
&1, Find out the wrong pair.
©) 5,2,3,4,1 D) 5,2,4,1,3
(A) man —men (B) photo — photoes

T30+ A, XA+, +4 — 2w —+ 4+ dami2ud, d 16

) . (C) Foot —Feat (D) mouse — mice
3+5 -2+ 4yl 82 wig Koy =
@A) 9 (B) 10 (A) 225 B) 2.54
©) 19 D) da wsug Al © 2.6 D) 2.0
74. 0 2uda A8l ved ue avl, 83.1 ol 10 welbu 50 ad Ry ool asy ddl i -u-
1,3,3,6,7,9,2, 12,21 vy 56 8 ?
(A) 10 (B) 11 (A) 2040 (B) 2520
© 12 D) 13 (C) 2650 (D) 2620
75. A3 uyS Ul Sl A6l uYE a2 FEL U B ? 84, 24+ weai Al Al
(A) asu —ase (B) & —dga (A) 7.5 (B) 8
(C) am — 2 (D) [z —As~s ) 9 (D) 12
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R5. &5 2vayy el WAl 8 ? 94, QA UH UHid el ).

(A) -16 (B) -13 (A) -7,-5,-3 (B) 18,15, 12
(C) -01 D) -078 (© 10,6,3 (D) 101, 108, 115
86. 2,5,8, 11, 14, u wuidz Sl 254 us e, 95,9419+ 294+ + 991 yeu Al
(A) 77 (B) 78 (A) 540 (B) 450
(©) 92 (D) 74 (C) 460 (D) 455
87. airuuioll 58 wvur AHu 6 7 96. ¥is 28l 60% eudl wzdl A Rz sl 8, di yal 204
(A) V1.69 B) V2 Ml Jedl quy amd ?
©) V3 D) VR (A) 3RRe (B) 120 3ise
88. 6l Avwiil AN 8 i Al dglad 4 8, dl Widl vy (©) 1M@RAe (D) 80 g3
8. 97. 6% AW 3.6000 - tllart ard usalg eux 3,
(A) 2 B) 4 A,
(C) 6 (D) 8 (A) 360 (B} 381.60
89. @*2 A BB 5wk ? (C) 741.60 @) 6381.60
@ & ® X 98. s (32 Aaul Vendl 8 19901 214 13 Aoy W O duy
g - £l 10 21 463, dl du 58 32en et a7
(©) %9 D) - (A) 112 (B) 100
90. g 3U 2L (C) 90 (D) 110
9347 -9 = 99, Aol sra-dl Guz 52 a 9. 8 af wedl durdl i
?) 12 % ®) 7 % ?fuvu El;\l'ﬂ Guarl AL 75 ax Al sl dl wAHl siesdl
. . GHR Al
€ 835 @ 113 A) 7ad B) 23ad
91. Driniel sl viy@fs Aisll Al & 7 (©) 60ad D) 57ad
(A) % (B) g 100,604 9 el @ B 3. 450 8, A ola sl G+l
3 2 [Bud 3. 310 ag ix di slieeD Bua Szl aw ?
© 5 IEE (A) 3.140 (B) 3.90
92. 13 +5 x4 — 8-l [Bud 3zl wu ?
(€) 3.130 @) 3.70
(A) 64 (B) 25
C) 77 oy -7

93. 100 ualFa-u axgui 43 alfa a1 N 8, uig sS4 Da
A2l 40 cul5a 519l 04 8, uig 2t Dt e, 10 @alEa 20 3
i8] 515 e el db a2 54 oiA dl-uael 2ivay 32d) ?

(A) 10 ®) 15
©) 5 D) 25
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